LESSON PRACTICE J

. Find the square root and check.

1. VX%+ 4X +4 2. X%+ 6X+9

3. \/x2+ 10X + 25

Divide and check.

4. X+3|/X2+5X+6 5. X+5|/X2+11X+36

6. X+31X2+7X+12
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LESSON PRACTICE 24A

7. X+8/X2+10X+16

9. X+3 2X2+7X+3

Challenge.

10. X+4|X3+9%%+27X + 28
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8.

11

X+ 3| X%+ 10X + 21

X+11X3+4xX%2+12X+9
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LESSON PRACTICE

Find the square root and check.

1. \/X2+12X+36 2. \/;2+14X+49

3, \/4x2+ 4X + 1

Divide and Check.

4. X+3 X2 +10X + 21 5. X+2| X2+ 7X+10

6. X+1/X2+7X+6
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LESSON PRACTICE 24B

7. X+3/X%+8X+15 8. X+4[X2+9X+20

9. X-21X2+X-6

Challenge.

10. X-2I1X3-5X2+11X-10 1. X-31x3+%x%-19x + 26
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SYSTEMATIC REVIEW

Find the missing factor. Build if necessary.

1. X+ 1014X2 + 10X + 1 2. Check #1 by multiplication.
3. 2X + 114X% + 6X + 5 4. Check #3 by multiplication.
5. X + 4lx% + 9x + 20 6. Check #5 by multiplication.

Find the square’s factor, or root.

7. VX2 4+2X+1= 8. Check #7 by multiplication.

Simplify. Write exponent solutions on one line unless otherwise directed.

5
9. x%3 (v)6 (vA)(Y°) = 0. % -
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SYSTEMATIC REVIEW 24C

Use only positive exponents in the answer for #12.

-2

1. X3x2+x*= 12, 2% - 3::1 +4x Y =
Solve.
13. .234x .21 = 14. 540 = .15 =
15. (-7)(-9) = 16. |[4-8+1|=
Add.
17. 6X%-3X+2 18. X2 +4X-8

+ X2 +5X-1 + X2-4X-9

19. What are the factors of 97?7

20. Which two operations are commutative?
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SYSTEMATIC REVIEW

Find the missing factor. Build if necessary.

1. X+112X°-X+10 2. Check #1 by multiplication.
3. X+3I13X2+11X+6 4. Check #3 by multiplication.
5. X +413X2 + 10X - 9 6. Check #5 by multiplication.

Find the square’s factor, or root.

7. IX2+8X+16 = 8. Check #7 by multiplication.

Simplify. Write exponent solutions on one line unless otherwise directed.

4
9. (A% B7 B3)2(A%) = 10, —tm
( 2% i

ALGEBRA 1 SYSTEMATIC REVIEW 24D 295



SYSTEMATIC REVIEW 24D

Add.

296

11.

15

7.

18.

19.

20.

586 x 1.5 = 12, 138 235=
L (7)-9= 14. 110 = 2 - 8

7X2 + 4X - 1 16. X2 +11X + 5
_2x2 +3X + 6 + X2 8X - 6

What are the prime factors of 216?

Which two operations are associative?

Isaac went for a brisk 24-mile walk. Swinging his long arms, he was able to
walk six miles per hour. How long did it take him to complete his journey?

The next day he was a mite tired. He went for the same 24-mile walk. Swing-
ing his weary arms, he was able to walk only three miles per hour. How long
did it take him to complete this journey?
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SYSTEMATIC REVIEW

Find the missing factor. Build if necessary.

1. 2X+212X%2 + 10X + 8

3. X+413X%+ 10X -8

5. 2X -5 /4X% - 2X - 17

Find the square’s factor, or root.

7. Vx2+6X+9=

Simplify or solve.

?

9. (4)3 =2

ALGEBRA 1 SYSTEMATIC REVIEW 24E

2. Check #1 by multiplication.

4. Check #3 by multiplication.

6. Check #5 by multiplication.

8. Check #7 by multiplication.

(x“\/-2 i

x3y5x1

10.
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SYSTEMATIC REVIEW 24E

Use only positive exponents in your answer to #12.

3R3
1. 10)* = (10'Y 12. 3a%83A + 22X - 78343 -
13. 1.68 + .045 = 14. 49 = .007 =
Add.
15.  2X2+4X - 6 16.  5X% +11X =3
+ X2+ X-10 _4x% _ 5X +7

17. What are the prime factors of 132?

18. What is the GCF of 20XY and 14X?

19. Ethan went for a quick 18-mile bike ride. Pedaling doggedly, he was able
to ride at a rate of nine miles per hour. How long did it take him to complete
his journey?

20. The next day he walked the same 18 rﬁiles. He was able to walk only three
miles per hour. How long did it take him that day?
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Dividing Polynomials Date Period

Divide.
1) (m*-Tm-11)+(m-38) 2) (n*=n-29)+(n-6)

> m-8[m*-Fm—1|

3) (n*+10n+18) =+ (n+5) 4) (1 =Tk +10)=(k—1)
5) (n* = 3n=21)~Gr~17) 6) (@* —28) = (a=5)
7 (r* +14r+38) = (r + 8) 8) (x*+5x+3)+(x+6)

9) (2x* - 17x-38)+ (2x+3) 10) (42x*-33)+(7x+7)




1Dy (x* - 74) = (x—8)

13) (W +7n* +14n+3) = (n +2)

15) (P -2 - 14v-5) = (v+3)

17) (K* - 30k — 18 — 4k?) + (3 + k)

19) (x* +5x2 -32x=7) + (x— 4)

12) 2p*+7p-39)+(Q2p—17)

14) (p® - 10p* +20p +26) = (p-5)

16) (x* —13x% +40x+18) =+ (x—7)

18) (=5k* + k> + 8k +4) + (-1 + k)

20) (50K + 10k% — 35k — 7) + (Sk— 4)



